Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)
Ergénze die fehlenden Steigerungsformen dieser Adjektive:

flink > => < flinker > => < am flinksten
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am lautesten

am reichsten

am neusten
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am langsten

am warmsten
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am altesten >
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Losungen

flink > => < flinker > => < am flinksten >
nahe > => < naher > => < am nachsten >
hibsch > => < hiabscher > => < am hubschesten >
hoch > => < héher > => < am hochsten >
laut > => < lauter > => < am lautesten >
reich > => < reicher > => < am reichsten >
teuer > => < teurer > => < am teuersten >
langsam > => < langsamer > => < am langsamsten >
schwer > => < schwerer > => < am schwersten >
schlimm > => < schlimmer > => < am schlimmsten >
neu > => < neuer > => < am neusten >
lang > => < langer > => < am langsten >
warm > => < warmer > => < am warmsten >
streng > => < strenger > => < am strengsten >
alt > => < alter > => < am altesten >
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